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ENGLISH)

PLANT BREEDING

Textual Questions Solved

1. Assertion (A): Genetic variation provides the

raw material for selection. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1Ux91PDfO16V


Reason (R): Genetic variations are differences

in genotypes of the individuals.

A. Assertion is right an reason is wrong

B. Assertion is wrong and reason is right

C. Both reason and assertion is right

D. Both reason and assertion is wrong

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1Ux91PDfO16V


2. While studying the history of domestication

of various cultivated plants were recognized

earlier.

Watch Video Solution

3. Pick out the odd pair.

A. Mass selection - Morphological

characters

https://dl.doubtnut.com/l/_m9mk1VmBIUuG
https://dl.doubtnut.com/l/_rxATb31anPhA


B. Purline selection - Repeated self

pollination

C. Clonal selection - sexually propagated

D. Natural selection - Involves nature

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rxATb31anPhA


4. Match Column I with Column II: 

A. i-I, ii-II, iii-III, iv-IV

B. i-III, ii-I, iii-IV, iv-II

C. i-IV, ii-II, iii-I, iv-IV

D. i-II, ii-IV, iii-III, iv-I

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QCPpj4E1icYa


5. The quickest method of plant breeding is

A. (a) Introduction

B. (b) Selection

C. (c) Hybridization

D. (d) Mutation breeding

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QCPpj4E1icYa
https://dl.doubtnut.com/l/_h3w66Xp9E9MV


6. Desired improved variety of economically

useful crops are raised by…………..

A. natural selection

B. hybridization

C. mutation

D. biofertilisers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3QkoFaP9yPJK
https://dl.doubtnut.com/l/_YXx4Yyb3wNZU


7. Plants having similar genotypes produced by

plant breeding are called

A. (a) clone

B. (b) haploid

C. (c) autopolyploid

D. (d) genome

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YXx4Yyb3wNZU


8. Importing better varieties and plants from

outside and acclimatising them to local

enviornment is called

A. (a) cloning

B. (b) heterosis

C. (c) selection

D. (d) introduction

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Yoi28qHBM0gg


9. Dwarfing gene of wheat is

A. (a) pal 1

B. (b) Atomita 1

C. (c) Norin 10

D. (d) pelita 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jLXYDrm8fyk4


10. Crosses between the plants of the same

veriety is called

A. (a) Interspecific

B. (b) intervarietal

C. (c) intravarietal

D. (d) intergeneric

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4O9Rw6BLA5pj
https://dl.doubtnut.com/l/_GaUoNGK5teij


11. Progeny obtained as a result of repeat self

pollination of a cross pollinated crop is called

A. (a) pure line

B. (b) pedigree line

C. (c) inbreed line

D. (d) heterosis

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GaUoNGK5teij


12. Jaya and ratna are the sami dwarf varieties

of

A. (a) wheat

B. (b) rice

C. (c) cowpea

D. (d) mustard

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_i8UQfPeisWBu
https://dl.doubtnut.com/l/_HwMw1ndRhYHe


13. Which one of the following are the species

that are crossed to give sugarcane varieties

with high sugar, high yield, thick stems and

ability to grow in the sugarcane belt of North

India?

A. a) Saccharum robustum and Saccharum

officinarum

B. b) Saccharum barberi and Saccharum

officinarum

C. c) Saccharum sinense and Saccharum

officinarum

https://dl.doubtnut.com/l/_HwMw1ndRhYHe


D. d) Saccharum barberi and Saccharum

robustum

Answer: B

Watch Video Solution

14. Match column I (crop) column II

(Corrsponding disease resistant variety) and

select the correct option from the given codes.

https://dl.doubtnut.com/l/_HwMw1ndRhYHe
https://dl.doubtnut.com/l/_aWZYmun4I88O


A. (a) I-iv, II-iii, III-ii, IV-i

B. (b) I-ii, II-I, III-iii, IV-iv

C. (c) I-ii, II-iv, III-I, IV-iii

D. (d) I-I, II-iii, III-iv, IV-ii

Answer: B

Watch Video Solution

15. A wheat variety, Atlas 66 which has been

used as a donor for improving cultivated

wheat, which is rich in

https://dl.doubtnut.com/l/_aWZYmun4I88O
https://dl.doubtnut.com/l/_BrTJ45J6ZDGU


A. (a) iron

B. (b) carbonhyrates

C. (c) proteins

D. (d) vitamins

Answer: C

Watch Video Solution

16. Which one of the following crop varieties

correct matches with its resistance to disease?

https://dl.doubtnut.com/l/_BrTJ45J6ZDGU
https://dl.doubtnut.com/l/_tC4b8mD1MQhw


Watch Video Solution

17. Which of the following is incorrectly

paired?

A. Wheat - Himgiri

B. Milch breed - sahiwal

C. Rice - Ratna

D. Pusa Komal - Brassica

https://dl.doubtnut.com/l/_tC4b8mD1MQhw
https://dl.doubtnut.com/l/_Uu3WL3YMHjJZ


Answer: D

Watch Video Solution

18. Match list I with list II:

A. i-c, ii-a, iii-b, iv-d

B. i-d, ii-c, iii-a, iv-b

C. i-a, ii-c, iii-b, iv-d

https://dl.doubtnut.com/l/_Uu3WL3YMHjJZ
https://dl.doubtnut.com/l/_Xqoad9h5syfI


D. i-b, ii-a, iii-d, iv-c

Answer: B

Watch Video Solution

19. Distinguish between primary production

and secondary production

Watch Video Solution

https://dl.doubtnut.com/l/_Xqoad9h5syfI
https://dl.doubtnut.com/l/_tZsbxel3oVsA


20. How are microbial innoculants used to

increase the soil fertility?

Watch Video Solution

21. What are the different types of

hybridization?

Watch Video Solution

https://dl.doubtnut.com/l/_HRRDMPmcvuD1
https://dl.doubtnut.com/l/_l5xuOGzHcVtV


22. Explain the best suited type of breeding

followed by plant breeders at present?

Watch Video Solution

23. Write a note on heterosis.

Watch Video Solution

24. List out the new breeding techniques

involved in developing new traits in plant

https://dl.doubtnut.com/l/_DtQJPM7CvJpU
https://dl.doubtnut.com/l/_7U9N9rlfyz19
https://dl.doubtnut.com/l/_BZVvHDepCMJc


Additional Questions 1 Mark Questions

breeding .

Watch Video Solution

1.  is the process of bringing a

plant species under human control.

A. (a) Emasculation

B. (b) Hybridization

C. (c) Domestication

……………

https://dl.doubtnut.com/l/_BZVvHDepCMJc
https://dl.doubtnut.com/l/_VDxv7N08Ymr2


D. (d) Acclimatization

Answer: C

Watch Video Solution

2. Which of the following scientist developed

world's first cotton hybrid?

A. a) Dr. B.P.Pal

B. b) C.T.Patel

C. c) Dr.K.Ramiah

https://dl.doubtnut.com/l/_VDxv7N08Ymr2
https://dl.doubtnut.com/l/_Ewywl8VtdtVz


D. d) N.G.P.Rao

Answer: B

Watch Video Solution

3. Identify the correct statement

A. Bio-inoculants are efficient in

solubilising phosphate

B. Bio-inoculants are ecofriendly organic

agro outputs

https://dl.doubtnut.com/l/_Ewywl8VtdtVz
https://dl.doubtnut.com/l/_v0V8qEAoGRNF


C. Bio-inoculants are obtained from dead

organics matters

D. Bio-inoculants are designed to improve

soil fertility

Answer: C

Watch Video Solution

4. Which is a free living nitrogen fixing fungi ?

A. Azotobacter

https://dl.doubtnut.com/l/_v0V8qEAoGRNF
https://dl.doubtnut.com/l/_yeEpv2Tz5jiT


B. Clostridium

C. Nostoc

D. Anabaena

Answer: D

Watch Video Solution

5. Arbuscular mycorrhizae is a symbiotic

association between ……… .

A. a) Algae and fungi

https://dl.doubtnut.com/l/_yeEpv2Tz5jiT
https://dl.doubtnut.com/l/_fKlVLejrtRnB


B. b) Angiosperm roots and fungi

C. c) Blue gren algae and Azolla fern

D. d) Cyanobacteria and corolloid root

Answer: B

Watch Video Solution

6. Azolla is best suited biofertilizer for ........... .

A. Sugar cane cultivation

B. Paddy cultivation

https://dl.doubtnut.com/l/_fKlVLejrtRnB
https://dl.doubtnut.com/l/_gnKTtrtdP3WV


C. Wheat cultivation

D. Cotton cultivation

Answer: B

Watch Video Solution

7. Assertion (A): SLF promotes vigorous growth

and provide resistance against diseases.

Reason (R): SLF is made from kelp containing

more then 70 minerals.

https://dl.doubtnut.com/l/_gnKTtrtdP3WV
https://dl.doubtnut.com/l/_RCjtPUsFSFVY


A. (A) Both A and R are true. R explains A.

B. (B) A is true R is fales

C. (c) A is fales R is true

D. (d) Both A and R is fales

Answer: A

Watch Video Solution

8. Assertion (A): Pure line varieties show

homozygosity. Reason (R): Pure line species

are obtained through cross pollination.

https://dl.doubtnut.com/l/_RCjtPUsFSFVY
https://dl.doubtnut.com/l/_OQfGds0Nb3ve


A. (a) Both A and R are true. R explains A.

B. (b) A is true R is false

C. (c) A is fales R is true

D. (d) Both A and R is false

Answer: B

Watch Video Solution

9. Assertion (A): Hybrids show increased

growth and elevated yield. Reason (R): 

hybrids show Heterosis.

F1

https://dl.doubtnut.com/l/_OQfGds0Nb3ve
https://dl.doubtnut.com/l/_ZnLU8BzjvLi1


A. Both A and R are true. R explains A.

B. A is true R is fales

C. A is fales R is true

D. Both A and R is fales

Answer: A

Watch Video Solution

10. Statement (1): Trichoderma species is a

free-living bacteria. Statement (2): It acts as a

potent bio-control agent

https://dl.doubtnut.com/l/_ZnLU8BzjvLi1
https://dl.doubtnut.com/l/_Zzq0KIcoV6ah


A. a) Statement 1 is correct and Statement

2 is incorrect

B. b) Statement 1 is incorrect and

Statement 2 is correct

C. c) Both statements are correct

D. d) Both statements are incorrect

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Zzq0KIcoV6ah


11. Statement (1): Clones selection is carried

out in asexually propagating plants.

Statement (2): Clones show similar genotypes

A. (a) Statement 1 is correct and Statement

2 is incorrect

B. (b) Statement 1 is incorrect and

Statement 2 is correct

C. (c) Both statements are correct

D. (d) Both statements are incorrect

https://dl.doubtnut.com/l/_udBTsIFvur5q


Answer: C

Watch Video Solution

12. The process of removal of anthers from the

flower is called ...........

Watch Video Solution

13. Identify the proper sequence.

https://dl.doubtnut.com/l/_udBTsIFvur5q
https://dl.doubtnut.com/l/_Ann7w4mD0kyA
https://dl.doubtnut.com/l/_jVAzmz690Esy


A. Emasculation to Selection to Bagging to

Crossing to Harvesting

B. Harvesting to Selection to Crossing to

Emasculation to Bagging

C. Selection to Harvesting to Crossing to

Emasculation to Bagging

D. Selection to Emasculation to Bagging to

Crossing to Harvesting

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jVAzmz690Esy


14. Intra specific hybridization is also termed

as ………. .

A. a) Intravarietal hybridization

B. b) intervarietal hybridization

C. c) Interspecific hybridization

D. d) intergeneric hybridization

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jVAzmz690Esy
https://dl.doubtnut.com/l/_01AfAqpuhC5c


15. The period of opening of a flower is ………. .

Watch Video Solution

16. Superiority of hybrids over parents only in

vegetative growth not in yield. This

phenomenon is termed as …………. .

A. Euheterosis

B. Balanced euheterosis

C. Luxuriance

https://dl.doubtnut.com/l/_aUpwY5aGN1i2
https://dl.doubtnut.com/l/_5wS2Erc1UHNy


D. Mutational heterosis

Answer: C

Watch Video Solution

17. The term green revolution was coind by

…………. .

A. a) William S Gaud

B. b) M.S Swaminathan

C. c) Dr. B.P. Pal

https://dl.doubtnut.com/l/_5wS2Erc1UHNy
https://dl.doubtnut.com/l/_ceNpoMJ715mb


D. d) Dr. N.E.Borlaug

Answer: A

Watch Video Solution

18. Which is the second gamma garden in

India?

Watch Video Solution

https://dl.doubtnut.com/l/_ceNpoMJ715mb
https://dl.doubtnut.com/l/_n5zCMSlr1OQD


19. Match the following: 

A. A-ii, B-i, C-iv, D-iii

B. A-iii, B-iv, C-ii, D-i

C. A-i, B-iii, C-iv, D-iii

D. A-ii, B-iiii, C-I, D-iv

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ApiBnCdS7MFy


20. Who is popularly called as the ''father of

green revolution in India''?

A. Nel Jeyaraman

B. Dr. M.S Swaminathan

C. Dr. Nammalvar

D. N.G.P.Rao

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ApiBnCdS7MFy
https://dl.doubtnut.com/l/_zFJOaVxoIXxW


21. Pusa swarnim variety of Brassica species

show resistance to ………. .

A. White rust

B. Leaf curl

C. Black rot

D. Hill bunt

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_IMom2CuUQDy0
https://dl.doubtnut.com/l/_quk7SaFacZkp


22. The first established Atomic Garden in

India was ………….. .

A. (a) Bhabha Atomic Research Institute

B. (b) Indira Gandhi centre for Atomic

Research

C. (c) Indian Agricultural Research Institute

D. (d) Bose Reasearch Institute

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_quk7SaFacZkp
https://dl.doubtnut.com/l/_XaFhxWyArsT9


23. Triticale is polyploid breed of ……….. .

A. a) Triticum cereale x Secale sativus

B. b) Triticum durum x Secale cereale

C. c) Triticum cereale x Secale sativus

D. d) Triticum sativus x Secale cereale

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XaFhxWyArsT9


24. Raphanobrassica is an example for ………… .

A. (a) Autopolyploid

B. (b) Allopolyploid

C. (c) Polyploid

D. (d) Polysomy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XfTX8G1Yb8Rt


25. Atlas 66 is a improved variety of ………. .

A. Rice

B. Maize

C. Wheat

D. Spinach

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_irgwYfp38Lb5


26. Pusa sawani variety of okra is resistance

against ………. .

A. Aphids

B. Fruit borers

C. Shoot and fruit borers

D. Jessids

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XSGc0aRMcfKE
https://dl.doubtnut.com/l/_HxCpA1EiTsAj


27. ……………. was the first person to develop

world's first hybrid of sorghum

Watch Video Solution

28. Identify the incorrect statement: 

(i) SLF is obtained from kelps - a brown algae. 

(ii) Azolla is a fern. 

(iii) Rhizobium is found in association with

root nodules. 

(iv) AM forms symbiotic relation with

angiospermic roots.

https://dl.doubtnut.com/l/_HxCpA1EiTsAj
https://dl.doubtnut.com/l/_srv7jZvaHry6


A. I only

B. ii,iii and iv only

C. none of the above

D. all the above

Answer: C

Watch Video Solution

29. Damping off of tomato is controlled by ……..

.

https://dl.doubtnut.com/l/_srv7jZvaHry6
https://dl.doubtnut.com/l/_gNXdwl01z9FL


A. (a) Beauveria species

B. (b) Trichoderma species

C. (c) Acacia species

D. (d) Pseudomonas species

Answer: A

Watch Video Solution

30. Match the following : 

https://dl.doubtnut.com/l/_gNXdwl01z9FL
https://dl.doubtnut.com/l/_N7docd92zkjC


A. A-ii, B-iv, C-i, D-iii

B. A-iii, B-iv, C-ii, D-i

C. A-I, B-iii, C-ii, D-iv

D. A-ii, B-iii, C-I, D-iv

Answer: A

Watch Video Solution

31. Identify the correct symbiotic association

A. Rhizobium x Corolloid roots

https://dl.doubtnut.com/l/_N7docd92zkjC
https://dl.doubtnut.com/l/_vuGz2ADhIQzm


B. Arbuscular Mycorrhizae x Angiospermic

roots

C. Azolla x Amantia

D. Azospirillum x Azolla

Answer: B

Watch Video Solution

32. Atomita 2 - rice is a product by ………….. .

A. Polyploid breeding

https://dl.doubtnut.com/l/_vuGz2ADhIQzm
https://dl.doubtnut.com/l/_mFrmxP365Yt9


B. Hybridization

C. Mutation breeding

D. Clonal selection

Answer: C

Watch Video Solution

33. Luxuriance is the term used on par with

………… .

A. (a) Heterosis

https://dl.doubtnut.com/l/_mFrmxP365Yt9
https://dl.doubtnut.com/l/_XYpjMEPVPXxU


B. (b) Anthesis

C. (c) Hybrids

D. (d) Mutant breeds

Answer: A

Watch Video Solution

34. The term pureline was coined by ………….. .

Watch Video Solution

https://dl.doubtnut.com/l/_XYpjMEPVPXxU
https://dl.doubtnut.com/l/_zltGEwGbChHZ


Additional Questions 2 Mark Questions

1. What is domestication of plants?

Watch Video Solution

2. Mention any two free - living nitrogen fixing

bacteria.

Watch Video Solution

https://dl.doubtnut.com/l/_P3n8cs2N4qUI
https://dl.doubtnut.com/l/_EeCyMAZN1vgr


3. What are bio-pesticides? Why they are

considered better than synthetic pesticides?

Watch Video Solution

4. Name any four plants used in Green leaf

manuring.

Watch Video Solution

5. List out the objectives of plant breeding.

https://dl.doubtnut.com/l/_9HvuaiOgy8KP
https://dl.doubtnut.com/l/_Td10AQT2HOho
https://dl.doubtnut.com/l/_evbSiqxpfIFP


Watch Video Solution

6. Define acclimatization.

Watch Video Solution

7. Who coined the term ''pureline''?Define it.

Watch Video Solution

https://dl.doubtnut.com/l/_evbSiqxpfIFP
https://dl.doubtnut.com/l/_084VslEIYSci
https://dl.doubtnut.com/l/_vVWcqw19Ck2A


8. Define the following terms. 

(a) Emasculation (b) Bagging (c )

Biofortification

Watch Video Solution

9. What is heterosis?

Watch Video Solution

https://dl.doubtnut.com/l/_Ph1q4rO9lMpb
https://dl.doubtnut.com/l/_hP4cpfMvNJUd


10. What does the term 'luxuriance' stands for

the plants breeding? Explain.

Watch Video Solution

11. Mutagens are the substances that induces

mutation. Name any two physical and chemical

mutagens.

Watch Video Solution

https://dl.doubtnut.com/l/_g96HUvN1CCmX
https://dl.doubtnut.com/l/_ypozLrwbkq1Z


12. Write in brief about Atomic Garden.

Watch Video Solution

13. State any one advantage and one

disadvantage of polyploid breeding.

Watch Video Solution

14. What are polyploids ? Mention its nature.

Watch Video Solution

https://dl.doubtnut.com/l/_WOOEuyhPqpRV
https://dl.doubtnut.com/l/_mVRodzZNlETG
https://dl.doubtnut.com/l/_OKa0cfj57GD1


15. Name any two allopolyploid plant species.

Watch Video Solution

16. What is biofortification?

Watch Video Solution

17. Name the insect resistance varieties

developed in the following crops. (1) Okra (2)

https://dl.doubtnut.com/l/_OKa0cfj57GD1
https://dl.doubtnut.com/l/_nZeAIZWJPz9u
https://dl.doubtnut.com/l/_r0PxfgxdnNSM
https://dl.doubtnut.com/l/_1VP0J1yt3QxQ


Additional Questions 3 Mark Questions

Rapeseed mustard

Watch Video Solution

18. In which plant, and by whom the first

natural hybridization was performed?

Watch Video Solution

https://dl.doubtnut.com/l/_1VP0J1yt3QxQ
https://dl.doubtnut.com/l/_XN9hPcGfu2j7


1. In 1926, Vavilov initially proposed eight main

geographic centres of crop origin. Mention

any six of them.

Watch Video Solution

2. Name any three eminent plant breeders of

Indian origin.

Watch Video Solution

https://dl.doubtnut.com/l/_uxOgzJ0PT8pC
https://dl.doubtnut.com/l/_L2P8K7HYJAQt


3. How Rhizobium acts as a efficient bio -

fertilizer?

Watch Video Solution

4. Azolla increases the yield of paddy crop -

support your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_ufcHW8Xx5zOL
https://dl.doubtnut.com/l/_RVrpc2xGbn9y


5. Mention any tree advantage of Arbuscular

mycorrhizal association.

Watch Video Solution

6. What makes the Trichoderma an effective

bio-pesticide?

Watch Video Solution

7. Write a note on Green manuring.

https://dl.doubtnut.com/l/_KpiPPNdnHVLv
https://dl.doubtnut.com/l/_gnp5Iv3RSfvh
https://dl.doubtnut.com/l/_LgNlWtGiKtjt


Watch Video Solution

8. List out the objectives of plant breeding.

Watch Video Solution

9. Give an account on clonal selection.

Watch Video Solution

https://dl.doubtnut.com/l/_LgNlWtGiKtjt
https://dl.doubtnut.com/l/_ensN7zilnwAm
https://dl.doubtnut.com/l/_RHEcVSYA6F6V


Additional Questions 5 Mark Questions

10. Write a short note on autopolyploidy with

an example .

Watch Video Solution

1. Give a comparative account on Seaweed

liquid fertilizer.

Watch Video Solution

https://dl.doubtnut.com/l/_3dpDE7q3AJey
https://dl.doubtnut.com/l/_cFUiJJwtUmDZ
https://dl.doubtnut.com/l/_kz7gWFjq8uPH


Heigher Order Thinking Skills Hots Questions

2. Explain the steps involved in hybridization.

Watch Video Solution

1. Given below are the examples of symbiotic

association in which one partner was

mentioned . Write the mane of the mutual co-

partner. 

(a) Azolla fern +…………. . 

https://dl.doubtnut.com/l/_kz7gWFjq8uPH
https://dl.doubtnut.com/l/_gv5UbsfWv3jO


(b) Root nodules of legume plants +………… .

(c) Phycomycetous fungi +………….. .

Watch Video Solution

2. Provide an example for each of the following

agricultural components. 

(i) Bio pesticide 

(ii) Green manure crop 

(iii) bio-Fertilizer

Watch Video Solution

https://dl.doubtnut.com/l/_gv5UbsfWv3jO
https://dl.doubtnut.com/l/_of1lfIYjZQAv
https://dl.doubtnut.com/l/_mkOvMXBjyFk2


3. State the objective of using green manuring.

Watch Video Solution

4. Why plant Breeding is carried out by

farmers and scientists?

Watch Video Solution

5. Yesterday, Ramu visited his friend's Orchard,

where in he noticed few flowers of certain

https://dl.doubtnut.com/l/_mkOvMXBjyFk2
https://dl.doubtnut.com/l/_X0NE8xz8anWV
https://dl.doubtnut.com/l/_mKxZfaEhiQpi


guava trees are covered using thin paper bags.

(i) Name the process carried out there. 

(ii) Why it was done so?

Watch Video Solution

6. Who am I? 

(i) Father of green Revolution. 

(ii) Father of Indian Green Revolution.

Watch Video Solution
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7. A plant breeder developed a hybrid

sugarcane by grafting two differents varieties

with desirable characters. The resultant hybrid

showed as excellent growth and productivity

with increased sucrose contant compared to

its parental forms. 

(i) What does this phenomenon refers to? 

(ii) How its condition can be maintained

through further generation?

Watch Video Solution
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